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Guided Notes Cont'd: Applications of Systems in 3 Variables
Problem 3 Solving a System Using Substitution
What is the x-value in the solution of the system? @
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Problem 4 Solving a Real-World Problem
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Business You manage a clothing store and budget $6000 to restock 200 shirts. You can buy Tshivts
for $12 each, polo shirts for $24 each, and rugby shirts for $36 each. If v ve twice as many
ruEE_\' shirts as polo shirts, how many of each type of shirt should vou buy?
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Got It?
You manage a clothing store and budget $5400 to restock 200 shirts. You can buy T-shirts for
PAGE1OF3 19worDs [[2 : .- D - -




September 03 2014 haa.gwb - 3/6 - Wed Sep 03 2014 16:41:50

Document5 - TI-Nspire™ Teacher Software

File Edit View Insert Tools Window Help

Content Decuments

H Document Preview -

i

@ - 'Keypad + SideScreen - |

1.2 ‘ > *Unsaved —

x+y+z=200
linSolve({ 12 x+24 y+36 z=6000 ,{x..z }
z=2"y

{20,60,120}

‘D Caleulator @ Menu @ A(ﬁebr‘a
@) Solve Lintar  Systems

(=) (2] (e) (<) (o) (&) (] (&) (]

(=) () (0 () (<] () (m) (w] (=)

BOIGIOIORORLIONE
Yvwaeaea -

“.;'.l TEXAS INSTRUMENTS

" Documents X 4 B

Page Size: Handheld 12 Settings Zoom: |200% < | - +




September 03 2014 haa.gwb - 4/6 - Wed Sep 03 2014 16:43:05

B H S B 0O - 2.9 Systemns of 3 Variables -Day 2 - Word 7 ©H

7 - x
HOME INSERT DESIGM PAGE LAYOUT REFEREMCES MAILINGS REVIEW VIEW

Luke Brzostowski =
Cut

i - Sl A A - By T LT LD == A i Find -
- Arial 13 A A Aa ¢ | -z s EE T AaBbCeDe AaBbCceDe AaBbh(C AaBbCcel Aa]j AaBbCcC AaBbCcDt AaBbCcDi ab_per
Copy *| sacReplace
Paste . z . akg === t=. - : - : T
: & Format Painter I U - abe X, X & - L == == | =2 TMormal = TMo Spac.. Headingl Heading 2 Title Subtitle  Subtle Em... Emphasis |3 [:3‘ Select -
Clipboard Pl Font Pl Paragraph P Styles I Editing s
Got It?

You manage a clothing store and budget $5400 to restock 200 shirts. You can buy T-shirts for
$12 each, polo shirts for $24 each, and rugby shirts for $36 each. If you want to have the same
number of T- shirts as polo shirts, how many of each type of shirt should you buy?
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Sports A stadium hasd9.000sears. Seats sell for $25 in Section A, $20in Section B,

and $15inSection C. The number of seats in Section A equals the total number
of seats in Sections B and C. Suppose the si: ake<in 51,052,000 from each
e e

sold-out event, How many seats does each section hold?
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